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This paper contains 70 questions.
Before starting the paper ensure that all questions are in proper sequence.

Blank papers, clipboards, log tables, calculators, mobiles or any electronic device are not allowed.
Before starting the paper, fill up the required details in the blank spaces provided on the OMR sheet.
Do not forget to mention your roll number neatly and clearly in the OMR sheet.
No rough sheets will be provided by the invigilator.

No query related to question paper of any type is to be made to the invigilator.
Onthe OMR sheet darken the appropriate bubble with blue or black ball Pen.
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You are not allowed toleave the examination hall before the end of the exam.
. Each Question carries 4 marks. For each correct response, the students will get 4 marks.
Incase of incorrect response, 1 mark will be deducted.
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MATHEMATICS (Q.1 TO Q.25)

The product of two 2-digit numbers is 2160 and
their HCF is 12. Then sum of the number is
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possible :
(1) 72 (2) 84
(3) 96 (4) 60
m
If /m =3n, then =2 is equal to :
3 9
1~ (2) T
1 2n
6) 5 @

1
If x=2++/3 then the value of X3+—3 is :
X

(1) 52 (2) 64

(3) 76 (4) 80

The common quantity must be added to each term
of a? : b? to make it equaltoa: bis:

(1)ab (2)a+b

B)a-b (4)a/b

List-II shows the degree of polynomials given in
List-I.

List-I List-II
(P) 2-y>-y® +2y° (1) 2
Q)2 (2)1
(R) 5x -5 (3)0
(S) 4 -x° 4) 8
Code :

(1) P-1, Q-3, R-2, S—4
(3) P-4, Q-2, R-3, S-1

(2) P-4, Q-3, R-2, S-1
(4) P-2, Q-3, R4, S-1

Class : IX
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&1 3] DI & A3 BT UG 2160 IR AAT. 128 | Tl
RT3 BT AT S ©

(1) 72 (2) 84
(3) 96 (4) 60

I e - 3n &, n% R -
9
(1) @ 7

)

Ol Blw

2
@

g x =243 & @ xe’+i3 PIAAE :
X

(1) 52 (2) 64

(3) 76 (4) 80

a? : b? 3FuTa # SHAfTe I B TS Ug H el 91Y
Uda:bdRERT :

(1)ab (2)a+b

(B)a-b (4)a/b

-1 9gUE @ BTl 1 IR Hxal & S Ga-1 7 A 2 |

qA-1 qA-11
(P)2-y*-y> +2y° (1)2
Q)2 (2) 1
(R) 5x -5 3)0
(S)4-x2 4) 8
D

(1) P-1, Q-3, R-2, S—4
(3) P-4, Q-2, R-3, S-1

(2) P-4, Q-3, R-2, S-1
(4) P-2, Q-3, R4, S-1

Y% @1 P fory T8/ Space For Rough Work
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6. The following are the steps involved in finding the
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6. at +i4 D1 T4 SITd DR & fory o= foRad =ror fed i 2 |
a

4 1
value of & +— |
a
1 .
. THat—= 13 | Iy =Rl H ¥ T < 31~ o1 o qafRerd
when a+—=1. Arrange them in sequential order

a PN —
from the first to the last.

2, 1 2 1 2, 1 2 1
a‘+—+2=1Da"+—=-1 A)a"+—+2=1Da" +—=-1
(A) 22 22 (A) 22 a2
2\2 1 2 2.2 1 2
B) @) +|—| +2=1 B) @) +|—| +2=1
a a
2 2
(©) (a+lj =12 (©) (a+lj =12
a a
2 1Y 2 2 1Y 2
b [a2+ L) —1 D)2+ 5] =6
( )[ azj =1 (D) |&"+ 3
4 1 4 1
a +—=-1 Eya +—=-1
(E) o (E) o
(1) CADBE (2) CDBAE (1) CADBE (2) CDBAE
(3) CBADE (4) CEDAB (3) CBADE (4) CEDAB
7. Find the value of m if distance between (-4, m) | 7. m &I #9 S1d &3 IS (—4, m) T (8, -7) & A=A A 13
and (8, —7) is 13 unit : IPISL:
(1)2,-12 (2) -2, -12 (1)2,-12 (2) -2, -12
(3)-2, -1 4) 2,12 (3)-2, -1 4) 2,12

8. The centroid of AABC whose vertices are A(2, -3), 8. AABC @1 &< NAHA(2, -3), B(4, 2) @AT1C(-3, -2) & —
B4, 2) and C(-3, -2).
(1) (1, 1) (2) (1,-1) (1) (1, 1) () (1,-1)
(3) (1, 0) (4) (2, 1) (3)(1,0) @2, 1)

Y BT P o1 T8/ Space For Rough Work
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9. The end point of the longest chord of a circle are | 9. g &I GaH FI Siial ®T 31f~ fag (-4, 2) TAT (-6, -8) Bl
(-4, 2) and (-6, —8) . Find the centre. G ST D |
10 10
(1) (—?—QJ () (-5,-2) (1) (—?—QJ () 5,-2)
(3) 5, -4) (4) =5, -3) (3) 5, -4) 4) 5, -3)

10. Find the value of k, if points (10, 14), (-3, 3) and | 10. k®1HE A &I I (10, 14), (<3, 3) TAT (k, —8) THIT |
(k, —-8) are collinear.

(1) 16 (2) 18 (1) 16 (2) 18
(3)-18 (4)-16 (3)-18 4)-16
11. Which of the following graph is shown for | 11. M= #H Ay =3x-2 HTUH AT ?
y=3x-27?
(1) (2) (1) (2)
@) @ // @) @ //
/] /
12. Find the value of z. 12. z B HHF A DN |
15 15
4x + 5y +9z =36 ; 6x+7y+llz=49 4x+ 5y +9z =36 ; 6x+7y+llz=49
(1) 2 (2) 1 (1) 2 (2)1
(3)3 (4) Cannot be determine (3)3 (4) STA 81 PR HAhd

Y% @1 P fory T8/ Space For Rough Work
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13. If 2a-3b =1 and 5a + 2b = 50, then what is the | 13. IfX2a-3b=1dAM5a+2b=50Ta—-b BIAFARIEL?
value ofa—-b?
(1) 10 (2) 6 (1) 10 ()6
3)7 “3 (3)7 “4)3
14. Solve the equations : 14. TGN DIEA DY :
425" 1+ 93 1) =17 and 3(2% - 2(3") = 6 425 Y+ 93 ) = 17T 329 -2(3") =6
(1) &y =(2,1) 2) x,y) =(2,-1) (1) &y =(2,1) 2) x,y) =(2,-1)
(3) (X7 Y) = (]-7 2) (4) (X7 Y) = (27 _1) (3) (X7 Y) = (]-7 2) (4) (X7 Y) = (27 _1)
15. The square root by g;\\g is : 15. ﬁ;ﬁ P AAT
(1) V3 +42 (2) V3 -2 (1) V3 +42 (2) V3 -2
3) V2 +/3 @) V2 -3 3) V2 +/3 @) V2 -3
16. If 0.42 x 100 = 42, then the value of k is : 16. fX0.42 x 1005=428, AWK BIAFE :
(1) 4 (2)2 (1) 4 (2)2
3)1 “3 (3) 1 “4)3
17. If3**Y=81and 81 ¥ = 3 then the value of xis: | 17. IR 3* V=81 TM8I1* ¥=3 8, A HIHAAZ :
15 15
(1) 42 (2) (1) 42 (2)
17 17
B 3 (4) 39 @) 3 (4) 39
18. Class size of 10 - 20 1is: 18. 10—20 BT IMHRE —
(1) 15 (2) 20 (1) 15 (2) 20
(3) 12.5 4) 10 (3) 12.5 4) 10
19. The range of 15, 14, x, 25, 30, 35 is 23. Find the | 19. 15, 14, x, 25, 30, 35 &I U 23 B Al x &1 FAdH A AHI
least possible value of x : z?
(1) 37 (2) 12 (1) 37 (2) 12
(3) 13 ) 11 (3) 13 ) 11
¥% @13 @ fory 5r71g / Space For Rough Work
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20. Mean of the following data is 20. ﬁﬁnﬁsﬁmﬁr P :
Class 15 | 20 | 25 | 30 | 35 qif 15 | 20 | 25 | 30 | 35
Frequency 5 7 3 4 8 dJINHIN AT 5 7 3 4 8
(1) 22 (2) 25.55 (1) 22 (2) 25.55
(3) 24.05 (4) 27.05 (3) 24.05 (4) 27.05
21. LCM of 18x%? and 45x°y*z° 21. 18x°y? @ 45x°y’Z HTAAT B
(1) 90x3y® (2) 90x>y?z° (1) 90x3y° (2) 90x>y?z®
(3) 90x°y?z* (4) 90 (3) 90x°y?z* (4) 90
22. Square roots of 1296b” is 22. 1296b* BT TFFAR :
(1) 36b (2) 36 (1) 36b (2) 36
(3) 36b* (4) 36b? (3) 36b* (4) 36b?
23. Factors of 27a* - 9a is : 23. 27a%—9a & YUAETE T —
(1) 18a (2) 9a (3a - 1) (1) 18a (2) 9a (3a - 1)
(3) 9a (3a + 1) (4) 3a (3a-1) (3) 9a (3a + 1) (4) 3a (3a-1)
81b%a® 81b%a* -
24. Square roots of 36x2y6 is : 24. 36x2y6 DA T :
3a’b 3a’b 3a’b 3a’b
(1) 4xy° (2) 2xy3 (1) 43y’ (2) 2xy3
3a%b 3ab? 3a’b 3ab?
(3) 4x%y 4 4x%y (3) 4x%y 4 4x%y
25. Square roots of a’x?—2ax + 1is: 25. a’x® - 2ax+ 1 TAL :
(1) ax -1 (2) a-x (1) ax -1 (2) a-x
(3)a+4 @) ax + 1 (B)a+4 @) ax + 1

Y% @1 P fory T8/ Space For Rough Work
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REASONING (Q.26 TO Q.40)

If in a certain code DESCRIBE is coded as
FCJSDTFE, then how will CONSIDER be written
in that language ?

(1) SFEJTOPD (2) SEFJTOPD

(3) QFEJTOPD (4) QEFJTOPD

A and B are brothers, C is the father of A, D is the
father of C. E is the son of B, then how is D related
toE?

(1) grandson

CLC
Tecno’'24 [

(2) great-grandson
(4) grandfather
There are six memebers A, B, C, D, E and F in a

(3) great—grandfather

family. There are two marries couples in the
family. The members of the family are lawyers,
teachers, vendors, engineers, accountants and
doctors. Seller D is married to a lady teacher. The
doctor married to a lawyer. Accountant F is son of
B and brother of E. Lawyer C is daughter-in-law of
A. E is a unmarried engineer. A is grandmother of
F. How is E related to F ?

(1) Brother (2) Sister

(3) Father (4) Either (1) or (2)
Study the 3 different position of a cube given below
and answer what number comes opposite to 2 ?

Class : IX
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27.

28.

20.
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e fp<dY Fiabferes 9191 § DESCRIBE &1 FCJSDTFE foran
ST, 91 CONSIDER &1 S0 9191 H§ 9 foreat Sireem 2

] Paper Code

(1) SFEJTOPD (2) SEFJTOPD

(3) QFEJTOPD (4) QEFJTOPD
ATANBYESEIC,AGIA@E D, CHIz |E,BHIIH
g, AT D BIE | T T 8 ?

(1) drar (2) TR

(3) TRaTET (4) g1

TP IRIRA B: e A, B, C, D, EGATF g | uRaR # a7
faarfed Twufy 8 | wRaR & Ao 9ia, reamsd, famr,
FONTRR, TP 3R fifhedd B | faghem D, e dfget o
fanfed @ | faferca®, aaa A Az & | @R F, B $193
TAE SIS T | TdIdd C, A D gFae & | E rfaanfed sifiR
TIA, FOITT | EBTF A TERE ?

(1) +1$ (2) g

(3) fua (@) (1) 31 (2)

T g ! o1 Reyferd ol =T gt 1an 2 | &1 2 fauRa sa—0
AT 3R ?

(1) 4 (25 (1) 4 ()5
(3)3 @1 (3)3 @1
¥% @13 @ fory 5r71g / Space For Rough Work
6

“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500




30.

31.

32.

*
.

¥

In the question four letter—pairs are given. Any
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three out of four are alike in some way. So they
form a group. Which is the one that does not belong

to group.
(1) Crow (2) Bat
(3) Pigeon (4) Parrot

In question bellow are given statements followed
by conclusions. You have take given statements
to be true even if they seem to be at variance with
commonly known facts. Read the conclusions
logically follows from the given statements
disregarding commonly known facts. Give answer.
Statements : All baskets are poles.
Some poles are lamps.
All lamps are roads.
Conclusions: 1. Some lamps are baskets.

II. Some roads are poles.

III. Some lamps are poles.
(1) Only I and II follow.
(2) Only I and III follow.
(3) Only II and III follow.
(4) I, II and III follow.
In question bellow are given statements followed
by conclusions. You have take given statements
to be true even if they seem to be at variance with
commonly known facts. Read the conclusions
logically follows from the given statements

disregarding commonly known facts. Give answer.

Statements : All goats are parrots.
All goats are crows.
Conclusions: 1. All parrots are crows.

II. All goats are crows.
III. Some crows are goats.
IV. Some parrots are goats.
(1) Only I and II come out logically.
(2) Only II, III and IV come out logically.
(3) Only I, IIT and IV come out logically.
(4) Either only II or III logically follows.

Class : IX
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30. U H UR HeR—YH R MY 8 | IR | | DI A1 fbf) yopR

31.

32.

T & | 37d: SPT Uh FE 9171 © | 98 U HI—a1 8, Ol 59
HHE H R A |

(1) Dram (2) TS

(3) PLX (4) e

ferfeTRad Uee | dor dor S 915 ey Ry U 8 | 3myent
T BT BT T HFAT B, Wel 81 d AdSTd aeai 3 faet uefie
B 1 T T BHITY b g 10 fFAeap s & 5 SF—a1 debeiid wu

W SRRV BRI &, Hel & HASA 720 B W1 8l —
BT : T SR TR B |
T[O T FI L |
T TSP B |
fray : I. GEOITHRAL |
. TOASHEHE |
Il {BAUTRIT |

(1) DI 1 TAT I STERV BRI E |

(2) Fa [ T2 111 SR PR & |

(3) DI 11 TAT 111 FIFHARYT DR 2 |

(4) 1, T QAT I11 3TRIRVT R 2 |

ferforRad o # werd den SHS d1g ey fg U R | 3maet
AU TTY FrAl &1 A AT €, el €1 J Fdsira deai | fae wedia
BIT 81 AT T HIFTY o e 77 P H | plF—a1 daarTd w0
W SRRV BRI &, Hel & HASA 720 BB W1 8l —

T gHRATATE |
T IHRAT DAL |
foresy : [. SN ddaae|
II. N IHRAT DAL |
1. FB DI THRATE |
IV. {B AR THRATL |
(1) Dact I T I THHTT ©F H e 2 |
(2) DI 1, 111 TAT IV THETd B H fIherd © |
(3) Dt I, I AT IV TS ©U H fieherd 2 |
(4) T DIt 11 A1 bR 111 T a1 BU H feherd © |

P
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In a row of 21 girls, when Monika moved four places
to the right, she became 12" from the left end.
What was his first position from the right end of

Talent Exploring CLC
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CLC
Tecno’'24 [

the row ?
(1) 10t (2) 14®
3)11%® 4) 12

In a row of children. Neeta's rank is 15" from the
left end. If she slides forward four places to the
right, she becomes 8" from the right end. How
many children are there in the row ?

(1) 27 (2) 26

(3) 28 4) 24

A, B, C, D and E are sitting on a bench. Among
them, A is sitting next to B and C is next to D, but
D is not next to E, as E is sitting on the left edge of
the bench. C is second from the right and A is to
the right of B and E, but A and C are sitting
together, then at what position does A sit ?

(1) between B and C (2) between D and C

(3) between E and D (4) between C and E

Class : IX

33.

34.

35.
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21 Tl @ Ue ufdd H o7 Aife TR I ars iR Rewa,
A ag I AR 12 41 21773 | Ufod & <10 R & S9! ggelt
Rerferam i 2

] Paper Code

(1) 104 (2) 144

(3) 114 (4) 124

o Pl U Ufad H N T pa I RR T 154 8 | Al ag a1
IR TR 3 MR Rewas el 8, AN Ig SRR I8 I HAWR BN
T @ | ufed H e fram s © 2

(1) 27 (2) 26

(3) 28 (4) 24
A,B,C,DTNE UG dadRISE |STHA, BD T H 9818
T C, D & I H, IR D, E & Urq =181 431 &, Hifs Eda &
¢ fPIR IR 9318 | C BT I TS IR A GAT S TATA, B 8iR
E & ST 3R 2, IRy A 3R C |11 93 B, T9 A fhd M wR 9371
z?

(2) D AT C & #eY
(4) C TTE & A&

(1) B @1 C & 7y
(3) ETUTD & Hed

Y% &1 @ forg 5178/ Space For Rough Work

8
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Direction for Q.36 and Q.37
Eight friends P, Q, R, S, T, V, W and Y are sitting
around a square table in such a way that four of

Tecno’'24
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them sit at the four corners of the square, while
four friends sit in the middle of each of the four
sides. Those who are sitting at the four corners
face the centre, while those who are sitting in the
middle are facing outside. S is third to the right of
P. P is facing towards the centre. Y does not sit
next to P or S. T sits thirds to the right of R. R is
not in the middle of any of the sides and R is not
next to Y. Only one person sits between Pand V. Q
does not sit next to V.

Which of the following is true about Y ?

(1) T does not sit next to Y.

(2) Y sits in the middle of one of the sides.

(3) R sits second to the left of Y.

(4) Pand V sit next to Y.

Who among the following sits fourth to the left of V
?

(1Y (2)R

3T 4 Q

Janaki walked 2 km from her house towards North.
From there she took a right turn and walked 1
km. Then she again took a right turn and walked
2 km. In which direction is she going ?

(1) North (2) East

(3) South (4) West

Rakesh move 20m in East and after that 10 m in
South. After that 35 m in West then 5 m in north.
After that walks 15 m in east. Now in which
direction is the end point from the starting point
?

(1) East (2) North

(3) South (4) West

A man walks 15 km in East direction and then
turns left and walks 5 km now he turns right and
walks 5 km. How far and in which direction is he
from the starting point.
(1) 20 km, East

(3) 40 km, East

(2) 30 km, East
(4) None of the above

Class : IX

36.

37.

38.

39.

40.

2409

g G&qT 36 TUT 97 G&qT1 37 @ fory fA3wr
=P, Q,R, S, T, V, WY Ush TMaR 71 & fird 51
JHR 93 B foh S99 9 IR a1 & IRI DIl R 93 B, TAdfh AR
TR YTl & A H 96 & | Sl ARl D141 IR I3 8, ST I8 bt
DI 3R B, ST A1 7 H 93 § 39D g AR DI AR T | S, PD
S P TIRRAWRE [PHHE b= PIARS | Y, PAS S
FAATE BT | T, RS TN DI IR WF W T | R {5 i sgom
PATHTEIEIRR, YD T TN T & | PV P I dadt
U A IS | Q, VD d7eT H 8l 9312 |

l Paper Code

Y & g | frfaRaa A A pra-ar a8 ?
()T, YD FAH T 9312 |

(2) Y i g goT & e H 931 © |

B)R, YD I DI R WM IR IST |

@ PTAV, YD ITAHISE |

frAfRed A AV & a8 Bl A WA R P IT 8 ?

(1)Y 2) R

3T 4)Q

I 3T B8R | SR 9 311R 2 foel =71l | a8t & a8 978 31k
R 1 fdl =rell | fhR a g T1E 3R g1 31k 2 fl. =il | 7
foa AT &R ?

(1) ST (2) 9d

(3) =feroy (4) uf¥=a

T2 20 H gd B 3R FADBR 10 H Sey07 Y SR et © | 3D
915 35 H1. IRTH DI IR TADR 5 1. ITR DI AR FAd & | R
15 ¥1. gd @1 3R Fefahl & | 379 3ifer fawg ufdas fawg & fov
feem# ?

(1) 9d (2) ST

(3) sféror (4) uf¥=™

T e g4 faem 4 15 i =rean 2 ok R A geaw 5 foot
TSI B 379 I8 TT¢ SR 5 fhHl AT B | TRRT e 9 a8
fra g vd fra fRRan#i 2

(1) 20 f+1, gd
(3) 40 fo+it, gd

(2) 30 forsdt, gd
(4) SIRITTH A DI 9

A
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41.

42.

43.

*
*

PHYSICS (Q.41 TO Q.50)

The area of velocity—-time graph describes :

Tecno’'24
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(1) Uniform motion (2) Displacement
(4) Force

A stone is dropped form the top of a tower. Its

(3) Acceleration

velocity after falling 500 metere.

(1) 50 m/sec (2) 100 m/sec
(3) 80 m/sec (4) 20 m/sec
Velocity—time graph is given below :

v (m/sec)

B C

time (sec)
0 2 4 6 8 10 12 14 16

Find displacement and acceleration during graph
CD.

(1) 32 m, 1 m/sec?

(2) 64 m, —16 m/sec?

(3) 64 m, 8 m/sec?

(4) 32 m, -1 m/sec?

Class : IX
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41. 9T UTH BT &THl Fdd DIATE :

(1) T FH T1fl (2) forermo=

(3) @R (4) g

Ueh TR ¥ Ueh TR B FIRTATSIA1 8 | 500 Hex Rk R g4
PIE —

(1) 50 HeR/ HHTS (2) 100 Hier /Adve
(3) 80 HIE/ HBHTS (4) 20 Hiex /ABHTS
. I U AT U e T g
v (HIex/qare)
g B C
4..
D Y (THTE)
0 2 4 6 810 12 14 16
CD 3% & for faRermu= a @Ror grm —

(1) 32 ey, 1 #ex/Adhve?
(2) 64 Hiex, —16 Hiex/AHve>
(3) 64 Hicx, 8 ez /AHUs>
(4) 32 Hiex, -1 Hiex/Ahve?

44. An object of mass 4 kg moves with velocity of @ 44. Ud I%] BT qTH 4 kg TS 4 m/sec ® ITHICHF E @l
4 m/sec then its momentum will be : HAITERT —
(1) 16 m/sec (2) 4 m/sec (1) 16 W/ HHTS (2) 4 Hiex /HHvE
m m HIex Hex
16kg —— 4kg— 16 fobam —— 4 four ——
3) & sec (4) TX8 e ) ADHTS “) AHTS
¥% @13 @ fory 5r71g / Space For Rough Work
10
CLC “ " . . . . . ‘!y
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46.

47.

*
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¥
A goalkeeper in game of football pulls his hands

backwards after holding the ball shot at the goal.
This enables the goalkeeper to :

Tecno’'24
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(1) Exert larger force on the ball

(2) Reduce the momentum exerted by the ball on
hand

(3) increase the rate of change of momentum

(4) decrease the rate of change of momentum

Velocity—time graph of a ball of mass 50 gm rolling | 46.

on a concrete floor is shown in figure. Calculate
frictional force of the floor on the ball :

v (m/sec)

80
60
40
20

—_— > time (s)

2 4 6 8 10

(1)-0.5 N (2)0.1N

(3)-0.1N (4)-1.0N

Which of the following statements is incorrect ?

(1) Anode is an electrode connected to the positive
terminal of the battery

(2) Pure water is poor conductor of electricity

(3) Electrolysis is used in the refining of impure
metals

(4) Ions have only a positive charge

Class : IX

45.

47.

2409

T MADIIR FedTd & W 3 TS DI gdhed & 91 eI s of
ST | I8 MADIIR & foTg —

] Paper Code

(1) 7€ R 31D gl FRIAT 2
(2) T IR T dTel HA¥T Bl HH HRAT S |

(3) AT H URTcH &1 &R DI dTT B

(4) T H URTTH B SR DI FHIIATE |

T 50 UTH ST 1 3G Al GRaw Hel IR ggd @l 8,  forg
T T & 77 © | el T 97 R e o] 9 BN TT—

AGICATASERS)

80
60
40
20

04

— N T (ADHUS)
2 4 6 8 10

(1) -0.5 =gc+

(3)-0.1 =ge~

T 5 DI P ITAT B ?
(1) TS e & g e IR I8 2 |

(2) 0.1 e
(4) 1.0 =gest

(2) IYE STA IRT &1 98 ¥ ATAD & |
(3) ey ervere TgE TRl g el H START B 2 |

(4) A DA IHAIYIET T |

Y% @1 P fory T8/ Space For Rough Work
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49.

50.
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In the given figure, electrolyte, anode and cathode
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respectively are : ] —
A <— —> C

(1)A,B&C
(2)B,A&C
3)B,C&A
4)A, C&B ————>B

Medium-B

45°
30%,
Medium-A

According to figure ray travels from medium A to
medium B. Refractive index of medium B w.r.t. A
will be :

15 o5 @a @

A child is standing in front of a magic mirror. She
find the image of her head bigger, the middle
portion of her body of the same size and that of the
legs smaller. The following is the order of
combination for the magic mirror from the top.
(1) plane, Convex and concave

(2) convex, concave and plane

(3) concave, plane and convex

(4) convex, plane and concave

Class : IX
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48. ey o= ¥ faggd ey, UAre 4 doiTe e Eif—

49.

50.

A<— ——>C

(1) A, BaaiC
(2) B, AT C
(3) B, Cd=A
(4) A, CTT B ] > B

HIETH-B

45°
300
HETH-A

IR 7 & SITAR A1 A | B H fohvor T vl © | s
B &1 A & HTUe] 31 eIl —

1 1 3
M3 @5 @2 @ g
T 951 U TGS UV & A W1 & | 98 370 RiR &1 fifarg
1, §19 & IRR BT TR+ THH MDHR BT T2AT URI BT BIeT
U a1 2 | 1 ST1g au T H Ul &1 el Harer 81T —

(1) FHTA, I TAT 3T
(2) STt , A TAT HHAA
(3) AATA, FHTA AT ITA
(4) STt , FHTT AT AT

Y &I P fory T8/ Space For Rough Work
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51.

52.

53.

54.

55.

y‘ . |CLC ,

4 Tecno’'24 Class : IX
CHEMISTRY (Q.51 TO Q.60)

Latent heat of vaporisation of water is : S1.

(1) 2.25 x 102 J/kg (2) 22.5 x 10° J/kg
(3) 3.34 x 10° J/kg (4) 33.4 x 102 J/kg
When the solid melts, its temperature : 52.
(1) Increases
(2) Decreases
(3) Remain constant
(4) First increases then decrease.
What happens when a fixed amount of oxygen gas | 53.
is taken in a cylinder and compressed at constant
temperature ?
i. Number of collisions of oxygen molecules at per

unit area of the wall of the cylinder increases.
ii. Oxygen (O,) get converted into Ozone (O,).

iii. Kinetic energy of the molecules of oxygen gas

increases.
(1) i & iii (2) il & iii
(3) iii only (4) i only
Which of the following are homogeneus in nature. | 54.
i. ice ii. Wood
iii. Soil iv. Air
(1) 1 & iii (2) il & iv
(3)i&iv (4) iii & iv
How much water should be added to 16 ml acetone | 55.

to make its concentration 48% ?
(1) 32 ml (2) 16 ml
(3) 17.33 ml (4) 33.33 ml

2409
CHEMISTRY (Q.51 TO Q.60)

el & AT W [T AT BT A Il 8—

(1) 2.25 x 10> 5t/fam  (2) 22.5 x 10° &/ fam
(3) 3.34 x 10°9[@/fa™m  (4) 33.4 x 10% 5=/ fm
T4 3T furgrera 8, A ST araHe —

(1) ggm

(2) T

(3) Fraazgm

(4) UBet g fR g

RN BT & 19 U RAeives # fFrad A3 # 9 g8 sifeiiar i
! fora a R AN frar s g ?

l Paper Code

i, Reiver & Sari U= Ui T erahel UR Sifasiior sl
DI B ATl STl &l AT I § |

ii. aifafiorT (0,) 3 (0,) HuRafia g o 2 |

iii. iTeRATST 199 & STUfal] &1 TSt Sl 9 ST 2 |

(1) i Qe iii (2) ii qAT iii
(3) ®ad iii (4) I i
A I g TR s g —

i, T ii. AAHS!

iii. e iv. arg

(1) i qeI iii (2) ii T iv
(3) i @ iv (4) iii TAT iv

16 ml T | fohae /13 § 5ot feran S o faers @t
AT 48% B Y ?
(1) 32 ml

(3) 17.33 ml

(2) 16 ml
(4) 33.33 ml

Y% &1 & forg 5178/ Space For Rough Work
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When two liquids in a mixture differ by their boiling | 56. STd fAsIv1 & g1 gai H F@AFIH BT <R &I, A S2 fod fAf |

points, which of the following is the best method
to separate these liquids ?

(2) Distillation

(4) Sublimation

(1) Evaporation

(3) Chromatrography
How fire can be put off :
(1) By throwing water on it

(2) By using fire extingusihers

(3) By throwing soil over it

(4) All are correct.

Which is not used as fire extinguisher.

i. Water ii. CO,
iii. Oxygen
(1) Only i (2) only ii & iii

(3) only i & iii
In diesel cycle combusion takes place at :

(4) only iii

(1) constant volume

(2) constant temperature & pressure
(3) constant temperature

(4) constant pressure

An example of fossil fuel is :

(1) Wood

(2) Animal waste

(3) Coal

(4) All are correct

57.

58.

59.

60.

YIdh ol T bl & ?

(1) grdfiepRor

(3) @l

3TV 1 B ST ST Hhell @ :
(1) Uil ST B

(2) FFTRITHE BT TANT B
(3) fAcdl STeaR

(4) TN T
SIS B TRE TIRTH L MAT R |
i. o ii. CO,
iii. RIS

(1) Haa i

(3) Daat i T iii

SIS Th H GeT BT e —
(1) frad s R

(2) Frad ara vd /e W)
(3) Fraaamm w

(4) Fradse w
STATeH S9T BT SETERVT L :
(1) STl

(2) SITHER] &1 JUfre

(3) drIet

@) TN |

(2) 3ma+
(4) SduTa

(2) Had ii TqAT iii
(4) ®aId iii
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BIOLOGY (Q.61 TO Q.70)

Chromosome are made up of : 61.

(1) DNA (2) Protein
(3) DNA and protein (4) RNA
The flexibility of plasma membrane can be
contributed to the presence of :
(1) Proteins (2) Lipids
(3) Nucleic acid (4) Both (2) and (3)
Match the following columns :
Column-I Column-II

A. Robert Hooke i. Discovery of Nucleus

B. Schleiden and ii. Protoplasm
Schwann

C. Robert Brown iii. Cell theory

D. Purkinje iv. Discovered Cell

Choose the correct answer :

(1) A-i, B-ii, Ciii, D-iv

(2) A-iv, B-iii, C-, D—ii

(3) A-iv, B-iii, C-ii, D

(4) A-iv, B-ii, Ciii, D

One bone is joined with another bone by the tissue
called.

(1) Tendon
(3) Blood
Fat storing tissue in our body is called.

(2) Ligament
(4) Adipose tissue

(1) Areolar tissue
(2) Adipose tissue
(3) Cartilage tissue
(4) Muscles

Class : IX

62.

63.

64.

65.
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RNUSEERIE RIS

(1) DNA (2) 9rE=

(3) DNA den iid= (4) RNA

DI f3reell & e H fdraa! SuRerfd gead: g —

l Paper Code

(1) &= (2) T
(3) gfereten 317 (4) T (2) T2 (3)
ferferRad i a1 fre ifog —
-1 -1
A. feEgH i. FEeodN
B. YeilsH qoI 3= ii. Sidager
C. 3 Je iii. I Rrgrd
D. RfdF iv. DIRGID @
e fapeu 31 gy :

(1) A-i, B-ii, Ciii, D—iv
(2) A-iv, Biii, C—i, D-ii
(3) A-iv, B-iii, C—ii, D—i
(4) A-iv, B—ii, Ciii, D—i
T 31Re B Y J1ReT | ST aTelT SAH el e:

(1) Sve (2) forvmae

(3) wferk (4) UfEuTSt Scfep
TR YRR H o1 TR STD HEerel &:

(1) TRefTeR Sad

(2) TSI e

(3) FITelet SaAH

@) wf

Y% &1 P fory oI TE / Space For Rough Work

15

’.

A
“ U’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A




|

66.

67.

68.

69.

70.

*
*

¥
Collenchyma are characterized by the presence

of.
(1) Elongated cells with deposits of cellulose and
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pectin all over the wall.

(2) Isodiametric cells with deposits of cellulose and
pectin at the corners.

(3) Elongated cells with thickening at the corners.

(4) Isodiametric cells with thickening all over the
wall.

Pancreas is responsible for maintaining :

(1) Blood pressure (2) Fat metabolism

(3) Blood glucose level  (4) Electrolyte balance

Adolescents should be careful about what they eat

because :

(1) Proper diet develops their brain

(2) Proper diet is needed for the rapid growth taking
place in their body.

(3) Adolecents feels hungry all the time

(4) Taste buds are well-developed in teenagers.

Pollination refers to the :

(1) transfer of pollen from anther to style

(2) transfer of pollen from anther to stigma

(3) transfer of pollen from anther to ovary

(4) transfer of pollen from anther to ovule

Which of the following parts of a plant take part in

sexual reproduction ?

ii. Seed

iv. Branch

i. Flower
iii. Fruit
Choose the correct answer from below :
(1) iand ii
(3) iii and iv

(2) 1, ii and iii

Class : IX
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forae) SulRfy PreargH &1 w-ior 8?

(1) Sreia difdreTd fowe! fAfol wR Agerst den ufdes o
SHE BT |

(2) FHARN BIRIDBIY T fhTRI IR et Ist AT Yae = Bl
SHE BT |

(3) Sreifa SIRIeN s fhaR A B 2 |

(4) TR DIFRTGIY et Fv g AT AT el 2 |

IrTer U fopas Ao @ folv saRer =

(1) Xad <Td (2) T ST

(3) BRR—TFDINT wR (4) faega sruEey Sged
fPoRI BT ST WM & IR F YT X+ 2RV Fife —

(1) ST MBR A I XA H GER AT |

(2) 39D IRR H (fH2iR) Toft | e eF & fory Sfd smer
B AATIHAT BN S |

(3) fFIR PR AT @ AN ¢ |

(4) fraR ¥ e S g A Ria e & |

TRETV 31 ST HRaAT R ©

(1) TRITHUT T GRITDHIY 3 IfTehT IR RATHTIROT

(2) TRITHYI BT IRETHTY H IfTHRI UR IR

(3) TRTTEHUT T TRITDIY 3 USRI TR AT

(4) TRTTHYI BT TRFTHIY H SISIUS TR RIHRIR]

. faRed 99 H9 UTey v ure g & <iffTes e & 9T e ?

i. qu i, It

iii. wal iv. 9

LN IR BT T DI -

(1) i 9o ii (2) i, ii T iii

(3) il @I iv
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1.21 65 & Mega Cash Prizes 31R 31 6315 @t Scholarships & fe€ CLC Classroom Courses B W2l &1 31fAart 21

Zonal Cash Award & Special Reward*

ZRL Each Class

1 Cash Prize of 3000 + Memento + Certificate + Student Kit

2to3 Cash Prize of 2000 + Memento + Certificate + Student Kit

4tol0 Cash Prize of 1000 + Memento + Certificate + Student Kit B
11to 50 Memento + Certificate + Student Kit ;é
51t0100 Memento + Certificate E

‘RL

Rest Participants : Certificate

*Cash awards will be given after tax deduction as per Govt. Norms.
Your Zonal Rank will be mentioned in the marksheet along with your Common Rank List

1. Date & Venue for Zonal Tecno'24 Fest will be announced at the time of result declaration
2. CLC Reserves the Right for extension of Exam Zone.

Mega Cash Awards*

Class 7 Class 8 Class 9 Class 10 Class 1l Class 12

CRL Class 5 Class 6
1 75000 75000 75000 100000 100000 200000 75000 75000
2to5 35000 35000 35000 50000 50000 100000 35000 35000

6tol0 20000 20000 20000 35000 35000 50000 20000 20000
11to 20 10000 10000 10000 20000 20000 35000 10000 10000

21 to 100 5000 5000 5000 10000 10000 20000 5000 5000
101to0 150 3000 3000 3000 5000 5000 10000 3000 3000
151 to 200 NA NA NA 3000 3000 5000 NA NA
201 to 250 NA NA NA NA NA 3000 NA NA

*Cash awards will be given after tax deduction as per Govt. Norms. CRL = Common Rank List

Why Tecno... Why CLC ?
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